

Squares and Cubes

Evaluate. (no need to simplify the fractions)

$$\left(\frac{1}{3}\right)^3 =$$

$$\left(-\frac{1}{3}\right)^3 =$$

$$\left(\frac{1}{4}\right)^2 =$$

$$\left(-\frac{1}{4}\right)^2 =$$

$$\left(\frac{2}{5}\right)^2 =$$

$$\left(-\frac{2}{5}\right)^2 =$$

$$\left(\frac{2}{3}\right)^3 =$$

$$\left(-\frac{2}{3}\right)^3 =$$

$$\left(\frac{3}{7}\right)^2 =$$

$$\left(-\frac{3}{7}\right)^2 =$$

Squares and Cubes

Evaluate. (no need to simplify the fractions)

$$\left(\frac{1}{3}\right)^3 = \frac{1}{27}$$

$$\left(-\frac{1}{3}\right)^3 = -\frac{1}{27}$$

$$\left(\frac{1}{4}\right)^2 = \frac{1}{16}$$

$$\left(-\frac{1}{4}\right)^2 = \frac{1}{16}$$

$$\left(\frac{2}{5}\right)^2 = \frac{4}{25}$$

$$\left(-\frac{2}{5}\right)^2 = \frac{4}{25}$$

$$\left(\frac{2}{3}\right)^3 = \frac{8}{27}$$

$$\left(-\frac{2}{3}\right)^3 = -\frac{8}{27}$$

$$\left(\frac{3}{7}\right)^2 = \frac{9}{49}$$

$$\left(-\frac{3}{7}\right)^2 = \frac{9}{49}$$